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Section A
Questions 1 to 10 carry 1 mark each, Questions 11 to 15 carry 2 marks each.
For sach questlion, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3 or 4). Shade the oval (1, 2, 3, or 4) on the Optical Answer
Sheet with a 2B pencil.
(20 marks)

1 in 68 445, the digit 6 is in the place.

{1) ones
(2) tens
(3)  thousands

(4) ten thousands

2 How many tens are there in 12 000?
(1 12
(2) 120
(3) 1200
(4 12 000
3 23887 is when rounded off to the nearest hundred, . . . .
(1) 23 900
(2) 23 980
(3) 24000
(4) 24900
4 What is the first common multiple of 6 and 87
(1y o4
(2) 48
(3) 36
(4) 24
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5 345 x 36 = 345 x

(1) 3+6
(2) 3x6 .
(3) 4+9
(4)  4x9

6  Whatis the sum of the fourth and eighth muitiple of 77

(1y 19
2y 32
(3) 39
(4) 84
7 Which one of the following has the greatest value?
3
Mg
3
(2) z
3
@ 3
3
4 —
S T
8 How many eighths are there in 2% ?
(1) 10
2 M1
(3) 19
(4) 22
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9 The figure below is made up of a square and rectangle. The length of the

rectangle is twice the width of the square. Find the perimeter of the figure.

(The figure is not drawn to scale.)

(1)
(2)
(3)
(4)

42 cm
56 cm
63 cm
147 cm

7 cm

10 A picture was pasted on a cardboard with a 2-cm border all around it.

Find the area of the shaded part. (The figure is not drawn to scale.)

(1}
(2)
(3)
(4)

32 cn?
60 cm?
64 cm?

96 cm? ) N
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11 How many more squares must be shaded so that g of the figure will be shaded?

(1) 6
2 9
(3) 12
4y 15

r

Az 4 x —;— is equal to

M Fr5tstE :
SRS

(3) 4+.:§

(4) 4—%

13 A small tin has 3 litres of paint. A large tin has twice as much paint as the smail

tin. How much paint will there he in 2 small tins and 3 large tins?

(1) 6litres

(2) 11 litres
(3) 24iitres
(4) 36litres
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14 Using the digits 3, 8, 0, 9 and 4, form the smallest 5-digit even number.

(H)
(2)
3)
(4)

15 Square PQRS and Rectangle WXYZ have the same perimeter.

What is the length of the rectangle? (The figures are not drawn to scale.) ...

(1
(2)
(3)
(4)

43 820
40 398
30 498
34 8380

8cm

8 cm
12 cm
16 cm
24 cm
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Section B
Questions 16 to 35 carry 2 marks each. Write your answers in the spaces provided.
For questions which require units, give your answers in the units statad.
{40 marks)

16 The value of digit 8 in 87 425is 8 x

o

17 A number between 1_0 and 20 has 6 factors. The sum of all the factors is 39.
What is the number?

ANS;

18 Shanti bakes 1020 cookies. She wants to paok' them into tins. If a tin can contain
8 cookies, what is the least number of tins she needs?
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19 Subtract 6459 from 10 000. Round off the answer {o the nearest ten.

————

. Ans:

20 John and Peter have 2450 stamps altogether. |f John has 1856 stamps, how

many more stamps does he have than Peter?

Ans:

21 540 x 35 = x 35 + 40 x 35. What is the missing number?

Ans:

22 Mary bought 5 dresses. Two of the dresses cost $150 and the rest cost $85
each. How much did she pay for.all the dresses?
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23 What fraction of the figure is not shaded? Express your answer in the simplest

form.

24  Amy drinks —} litres of milk every day. How many litres of milk will she drink ina

week? (Give your answer as a mixed number.)

Ans: _ litres

Ans:

26 Mr Ong had 72 apples. He used -g- of them to make apple juice. How many

apples had he left?

Ans:
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27 How many angles in the figure below are less than 90°7

Ans:
28  Using a protractor, find ZABC.
A D
C
B E
Ans:
29 How many pairs of parallel lines are there?
Ans:
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30 Name the pair of perpendicular lines in the figure below.

A

Ans:

31 Find the length of x. (The figure is not drawn to scale.)

<+—— 30 cm—————»

A A
5cm
\ 4
)
32 tm
+ -
A
5 cm
v
L om
v |, 4

ANs: cm

32 The ﬁgurg, not drawn to scale, shows a rectanglé. f ~yis 20° and the size of

2 x is twice as big as the size of 2y, whatis /27

Ans:
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33 Find the perimeter of a square which has an area of 144 cm”.

Ans: cm
34 Find the area of the figure below. (The figure is not drawn to scale.)
T o 15—
10 m T
' 6m
+—20m ———>
Ans: m?
35 The perimeter of the park is 180 m. What is the length of AB?
Ans: m
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Section C

Questions 36 to 45 carry 4 marks each. Show your working clearly in the space provided
below each question and write your answers in the spaces provided.

(40 marks)

36  Container A has 288 sweets and container B has 360 sweets, How many sweets

must be {ransferred from Container B to Container A so that Contanwer A will have
54 sweets more than. Contamer B?

Ans; B [4]

37  Mrs Devi sold 5894 plates of noodles on Monday and Tuesday. She sold
6498 plates of noodles on Tuesday and Wednesday. If she sold 24565 plates of
noodles on Wednesday, how many plates of noodles did she sell on Monday?

Ans: (4]
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38 Pen A costs 4 times as much as Pen B. The price of Pen C s % the price of

Pen A. If Pen C costs $18, what is the price of Pen B?

Y

Ans: [4]

33 Leo bought 5 baxes of shuttlecocks. He then packed the shuttlecocks into tubes.
Each tube had 6 shuttiecocks. After packing them, he found that he had 17 tubes
and 3 shuttlecocks lefl. How many shuttlecocks were there in each box?

Ans: ' [4]
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40  The length of a rectangular room is 12 m. Its width is half its length.

How much will it cost to tile the whole room at $20 per square metre?

Ans:” . 141

41 Jaya paid a total of $270 for 3 shirls and 2 pairs of shoes. Each pair of shoes cost
$15 more than a shirt, How much did the 1 pair of shoes cost?

Ans: : [4]

245
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45 440 red, blue and white beads were used to make a purse. There were three

times as many red beads as blue beads.
The number of blue beads was g the number of white beads.
(a) How many red beads were there?

(b) If all the beads were packed equally into 15 boxes, how many white beads

were there in each box?

END-OF-PAPER
Pleasé check your work carefully
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e

sferred 18

40)12=2=6m
12x6="72m2
$20x72=51440
It will cost $1440 to tile
the whole room.
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